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These unknovon in’ceamh‘m constank C and D ore oblained fom

bouno\ary conditions.
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vodial shress Ovv ond \ncop stress Ogg.
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We find that, Just like € + €y = constant, Grc + Tgg s also
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Vee O‘L bou\no\ary condihons ?—o« ?—inc‘ing( unknewn integrobion censhants

If we now sahely boundary condihona ; then we will have

“Um'que el ash‘ci@ solvhons

(¢) External and internal pressure \Oadin%
C\/h'no\ﬁ‘cal vessel 18 loaded by unf{:orm pressures (h) Fc>
on Hhe nside and oulside su*rFuces GF the ij'\fnole-r\.
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Tinal step o oblain U,

The wodial displacement ur waos cblained as: Up= %’f_+%

To oblain the conshanks (C,D>> we can make uvse a?— the
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Phen both internal and external pressures ave zew, i.e.
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Re\a’h’ngf l—orc[ue and end-to-end votation

A typical Yo OF- the hollowe ¢ylinder  would have its cvoss-

sechional normal Fofn’c a\ong Fre z-direchon. Therefore, shess

Compmenh G2z, Cze, Tar act on jt.
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